PRERNA EDUCATION CLASS IX

CBSE Test Paper 03

CH-4 Linear Equations in Two Variables

1. The graph of a linear equation x - 5y + 3 = 0 cuts the x-axis at the point
a. (-5,0)
b. (5,0)
c. (-3,0)
d. (3,0)
2. Which of the following pair is a solution of the equation 3x - 2y = 7?
a. (-2,1)
b. (1,-2)
c. (51)
d. (1,5)
3. The graph of the linear equation 3x — 2y = 6, cuts the x-axis at the point
a. (0,-2)
b. (-2,0)
c. (2,0)
d. (0,2)

4. Express ‘y’ in terms of ‘X’ in the equation 5y - 3x - 10 = 0.

_ 3—10=
a. Y=

_ 3+10x
b y="F5—

_ 3x—10
cy= %
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3e—+10

d y= =%

5. The graph of the line x = -2 passes through
a. (3,-2)
b. (-2, 3)
c. (0,4)
d. (-1, 4)
6. Fill in the blanks:
Any point on the X-axis is of the form of
7. Fill in the blanks:
The equation x = 7, in two variables can be written as
8. Is (x, 0) a point on the x-axis? Give reason.

9. Express the given statement in the form of a linear equation in two variables:

The cost of a half dozen eggs is the same as the cost of one packet bread.

10. Express x in terms of y for the linear equation %x + 4y =-7.

11. Ifx =k?and y = k is a solution of the equation x - 5y + 6 = 0, find the values of k.
12. Give the geometric representation of y = 3 as an equation

i. In one variable,

ii. In two variables
13. Find four solutions for the following equation: 12x + 5y = 0
14. Find four solutions for the following equation :5x - 3y = 0

15. Draw the graphs of 2x + y = 6 and 2x - y + 2 = 0. Shade the region bounded by these

lines and x-axis.
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CH-4 Linear Equations in Two Variables

Solution

1.(c)(-3,0)
Explanation: when a line cuts x -axis in that case y co-ordinate is 0

so to find the co-ordinate of x we puty = 0 in given equation

x-5y+3=0
aty =0
x-50+3=0
x+3=0
x=-3

so the co-ordinate are (-3,0)
2. (b) (1,-2)
Explanation: solution of the equation 3x - 2y = 7
is (1,-2) as it satisfy the given equation
3x-2y=7
=>3(1)-2(-2)=7
=> 3+4=7
LHS = RHS
3.(c)(2,0)

Explanation:
the linear equation 3x - 2y = 6, cuts the x-axis
when y co-ordinate is 0

so we puty = 0 in given equation 3x - 2y = 6

3x-2.0=6
3x=6

_ 5
T=3
X=2
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so the co-ordinates are (2,0)

4.(d) y = 317;:10

Explanation:

5y-3 x-10=0
5y-3x=10

5y=10+3 x
10+ 3z
5

5. (b) (-2, 3)

Explanation: because value of x -co-ordinate is - 2
6. (x, 0)
7.1x+0y=7
8. Yes, the point (x,0) lies on x-axis because the coordinate of any point on x-axis is zero.

9. Let the cost of one egg be Rs. x and cost of one packet bread is Rs. y.

6x =y
10. According to the question, given equation is %CC + 4y = —7
= %:L' =—7—4y
= 22 = 3(—7 — 4y)
N —212—12y

11. Given equation is:
x-5y+6=0..(1)
It is given that x = k% and y = kis a solution of the equation x - 5y + 6 = 0.
On putting the corresponding value of x and y in (1), we get
k?-5k+6=0
=>k?-3k-2k+6=0
= k(k-3)-2(k-3)=0
= (k-2)(k-3)=0
=>k=2o0r3

Page 4 of 8 https://prernaeducation.co.in 011 41659551 | 9312712114



PRERNA EDUCATION CLASS IX

12. We need to represent the linear equation y = 3

geometrically in one variable.

L.

i
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We can conclude that in one variable, the geometric representation of the linear
equation y = 3

will be same as representing the number 3 on a number line.

Yy t t 1 t t e o i
-4 -3 -2 -1 O 1 2 3 4
geometrically in two variables.
We know that the linear equation y = 3 can also be written as  + y = 3.
We can conclude that in two variables, the geometric representation of the linear
equation Yy = 3
will be same as representing the graph of linear equation x + y = 3.
Given below is the representation of the linear equation  + ¥ = 3 on a graph.

We can optionally consider the given below table for plotting the linear equation

0 -z 4+ y = 3on the graph.

X 1 0
y 3 3
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a

13. 12x+5y=0

= 5y =-12x
—-12
>Y = Tm
Putx =0, then y = 7512 (0)=0
Putx =5, then y = '512(5) =12
Putx = 10, then Yy = _512 (10) = 24

Putx = 15, then y = 12 (15) = —36

5
.. (0,0), (5,-12), (10, -24) and (15, -36) are the four solutions of the equation 12x + 5y =
0

14. 5x -3y =0

= 3y = 5x
5

3y:§$

Putx =0, then y =

Putx =3, then Yy =

o] enge| e o
—
(V]
S—
I
= oor 9

Putx =6, then Yy =
Putx =9, theny = %(9) =15

n

.. (0,0), (3,5), (6,10) and (9, 15) are the four solutions of the equation 5x - 3y = 0.
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15. We have,

Graph of the equation 2x +y = 6

We have,

2X+y=6—=y=6-2x

When x = 0, we havey = 6

When x = 3, we have y = 0

Thus, we have the following table giving two points on the line represented by the

equation 2x +y =6

y 6 0

Plotting the points A (0,6) and B(3,0) on the graph paper on a suitable scale and
drawing a line joining them, we obtain the graph of the line represented by the
equation 2x +y = 6.

Graph of the equation 2x -y + 2 =0:

We have,

2x-y+2=0=y-2x+2

When x = 0, we have y = 2

When x=-1, we havey =0

Thus, we have the following table giving two points on the line representing the given

equation

X 0 -1

y 2 0

Plotting the points C(0,2) and D (-1, 0) on the same graph paper and joining them, we
obtain the graph of the line represented by the equation 2x -y + 2 = 0.
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The region bounded by these lines and x-axis is shown in the graph.
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